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Note: Answers may be written either in English or in Hindi; but the same medium should be used
throughout the paper. Attempt any four questions. All questions carry equal mark.
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1. Answer the following: 6.25x 3

fafoiRed & I IR

(a) Some valid arguments have false premises and true conclusion. Discuss in the context
of truth and validity.
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(b) How is a sentence different from a proposition? Discuss with examples.
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(c) Distinguish between deductive and inductive arguments with examples.
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2. Answer the following: 6.25x 3

frgfeRad & I difsr:

(a) Why definitions are required? Discuss any two types of definitions with examples.
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(b) What is a term? What do you understand by the extensional and intentional meaning
of a term? Explain their relation with examples.
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(iii)

Ue &1 87 fhddl U o faaRied s (Fer) SR Sifiyvareres (1Am) orf 9 g o 99ed € 2
JaIERUN o 1Y I Y'Y B HRSAT B |

(c) What are the different types of functions performed by language? Which function of
language is the primary concern of logicians?
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(a) State the converse, obverse and contrapositive of the following propositions:-
frafaRad o uRadH, ufdads sik ufauRad= fafae:- 4x2
Q) No men are perfect.

HIS qey qul T ®
(i)  Some Soldiers are courageous.
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(b) If “All philosophers are logicians” is a true statement, what can you infer about the
truth value of the following:
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Q) Some logicians are not non-philosophers.
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(i) Some non-logician are non-philosophers.
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(© What do you understand by ‘existential import’? What effect it has on the
Traditional Square of Opposition? Discuss.
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(a) Translate the following into standard form categorical propositions:

Fufafad &) AFe eR Furfde dbared # gRafdd SR 4

Butterflies are not moths.

foraferal o =81 51

Only citizens are voters.
Hdd ARG AdardI g |

Not all roses are red.
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(iv) A few doctors are surgeons.
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(b) Test the validity/invalidity of the following using syllogistic rule method: 5 X 2
1 gfad o fafd &1 7anT vd gu MafaRad &1 qudl/sidedT & uRier &y:
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(c) What do you understand by a hypothetical syllogism? Explain with examples 2 types of
hypothetical syllogism. 4.75
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5. (a) Reduce the following into their standard syllogistic form and test their
validity/invalidity using Venn Diagram Technique: 6.25x 2
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Q) Some citizens are not government employees, but all citizens are voters;
therefore, some government empIO%ees are not voters.
1
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(i) No Americans are vegetarians and some Indians are vegetarian, so some Americans
are not Indians.
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(b) Prove the following: 6.25

faferad afed oY
In a valid categorical syllogism the minor premise must be affirmative in the 3™
figure.
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6. (a) Explain and illustrate the following informal fallacies: 6x2

dheINl Dt AT 3R JUMH BN

0] Fallacy of Equivocation

3BT Gy

(i)  Argument Ad Hominem
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(b) Identify and explain the following fallacy:-
frafiid dhaly &l ugar SiR I - 6.75

| am the sole earning member of the family. If you put me to jail my family will starve to
death. Therefore, you should not put me to jail.
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OR

The house is poorly constructed, so the material it is made of must be poorly constructed
as well.

TR TS dPp I ST T 8, SI1e1T forg It A 58 o111 711 § 98 HY ©RIe ailh
I ™ T B



